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[Time: 2 Hours] [ Marks:60]

Please check whether you have got the right question paper.
N.B 1. All questions are compulsory
2. Figures to the right indicate full marks
3. Draw neat diagrams wherever necessary.

a) Explain the paradox of bumper harvest. 8
b) Explain snob appeal and band wagon effect in detail. 7
c) Discuss consumer’s equilibrium with the helg?g‘ indifference curve. g
d) Ilustrate the substitution effect with the help of a suitable diagram. .

a) The firm can maximize the profits by employing the factors in optimal combination at which 8
cost of production is minimum-explain.

b) Write an explanatory note on learning curve. 7
OR

c) Bring out the relationship between AFC, AVC,ATC and MC with the help of a diagram 8

d) Discuss different types of returns to scale with the help of the diagram. 7

a) Explain profit maxmisation of a discriminating monopolist. 8

b) Discuss the concept of price leadership under oligopoly market. 7
OR

c) Discuss how game theory is used to analyse strategic decisions. 8

d) Read the paragraph and answers the given questions : 7

Ministry of Tourism, Government of India classifies hotels into seven categories:
five star deluxe, five star, four star, three star, two star, one star and heritage hotels. These apart,
there are hotels in the unorganized sector that have a significant presence across the country and
cater primarily to economy tourists.

In the face of stiff competition, hotels in India have come up with ingeneous ways to attract
customers. These hotels distinguish themselves with beds, bathroom, amenities and complementary
breakfast.

Some offer popular fast-food, others offer formal menus of a variety of food styles, Chinese,
Mughlai etc. Entry into restaurant business is easy. Each offers a differentiated product, advertises
its existence, location and menu.

i) Identify the market structure and describe its characteristic features.

i) Comment on differentiation offered by hotels in India.
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Q.4a) Choose the right option from the following:-
i.)  Economic growth is depicted by -----------
a) ashift in production possibilities frontier outwards
b) a movement from inside, towards the curve
c) ashift in the production possibilities frontier inward.
d) amovement along a production possibilities frontier towards capital goods.
ii.)  Slope of the consumers budget constraint is
a) given by the ratio of price of two goods
b) aconstant
c) given by the ratio of two goods
d) positive
iii.)  In case of inputs being perfect substitutes, elasticity of substitution of such production
function equal to
a) zero
b) one
c) constant
d) infinity
iv.)  Ifaproduction function exhibits diminishing marginal product, its slope
a) Islinear
b) becomes steeper
c) becomes flatter
d) none of the above
v.)  Which of the following is a variable cost in the short run?
a) renton the factory
b) wages paid to laborers
c) interest payments
d) salaries paid to upper management
vi.)  Celebrity brand endorsement in an oligopolistic market is an example of
a) huge investment requirements
b) indifference of buyers among products available
c) indeterminate demand curve
d) interdependent decision making firms
vii.) In the long run a monopolist would always
a) incur losses
b) earn super normal profit
c) lower its prices
d) earn at least normal profit.

b) Give precise meaning of the following:
a) Veblen effect
b) Marginality principle
¢) Expansion path
d) Pay off matrix
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OR

Q.4 Write short notes on any three of the following.

a)
b)
c)
d)
€)

Twin principles of scarcity and efficiency
Opportunity cost

Market failure

Cartels.

Prisoner’s dilemma
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I 2. Td 9 3ifaary 3med.

R. IordIhdlel 3k qUT T[0T geifaard.
3. a9 Y gah HThcAT HIal.

q.¢ 37) gafream gamATcer faRems e Tase . ¢
§) TAig 3 g §5 J91e7 IRUTH JueleidR TS &l b
et
o) FHIcC Tohredl TGl SUSIrcaTed] FHATd! Tal . ¢
S) 3MehciredT YR YATAT YROTH favrg & b
R ¥ O 3cures @d A 3dar, fAd 36T 9 3curas geeshiar Hafcd ¢
TehIeRYUTTET AT el oIl dTed, Ashcd FISE . b
g fdgdedr ashiay EISEaUTcAS ST foigr.
foar
% 3Mhiedr YR AFC, AVC, ATC @ MC dshiAtel Hae TISC . ¢
S 3MTehciIedT IMUR YAV el @giarear fafaer gepRrr =l . b
w.3 3 IR AFACRTT BT JEIHOT TISE FIT. ¢
9 SR SRl fRAd Adcdredr Hehodatdl Tl . b
frar
& eyl AU faRelyor auarEsRdar egd Rgiarar arR &ar gar cardr T=r ¢
T
g @lelel IRToe arar g @rell fgeledr IRl 3caX Torgr. b

TR ATHATAT GAcsT HIATRTA glcedd ATd YhRId JIlfehiuT ahel 3TR.
eaRifhd fBoled, TadRifhd, Id:dRifhd, FaRifed, gfadrifhd, Thdrifhd a
HiEhide dRAT Il giced, TMRAART FHEET & HHAT Scoe] IHACATHTS!
quT S2THR giced 3Ted.

o A HRATAS! gicedell ATEhIoll HThTA HUATRRAT Heddh HET
Qerer 3Med. @ giced o3, SIUEH, Gaur a Qe AT Ay fAfaerdr e
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I JIMBITT ST 3TEel. HIESIOT BRECHS T S Tl @eguery s

TGS d HITg G AT, 3UGRIE STIHRIHEY HTHA & EIY 377
et a&q, SfeudeTsl, T 9 A=y Al FAT.

i) dISIRTET YehR 3NSEe carel qRISed TS .

i) AR glcel cIaa el Heral HIsg .

3) 39T AFAAT dehleedlel STofehs TLhUT

§) TehredT JTclel STofel dshlehs Bleldlel Gr@ad

) JcUTcel AFIAT Ih13TTclel STofd TR,

S) Hisdell TEIHS 3cUleel AFAAT dshlcilel glolelel
DIEREIE I B AR EC TN G A3 5 BT | -] ——

37) A aEEAT AT e 3TEd.

9) &R 3mEar

%) Gl aEA JAT 3Hd

3) Yol 3T

YcAdeholoT

iii) SiegT 3MTer= & quia: 9ATed 3HdTd, el Sculeabolaredl FATCaddl oafeehdr

IR TAT 3.
) LT
9) T
%) R
) 3eAd

iv) S 3cUTce helel & Tedl HAId 3cdige gafdd 3e aX ardm 3dR
31) Y& g
§) 3%c gidrn
%) gEC giar.
3) gl FIUTAET TR
V) TCURTBIHEY Wrelleldhl HIVTAT JEAVIRT T 318 ?
37) FREI 13
o) HHIN I
&) SISl Ui
3) 3Td PaEUIAH feel AR adel
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vi) USRI #FEfeT TATTATH FiG 3HTel 3GTEI0T -—--mm---
37) Y98 I[IqUhl IS
d) TG 3Tl aEaTel Al TOEAT
%) ATRTT AT dsh
g) RERTFtad 0T Qum=ar 3T 9ear

el AT TS AL
37] deelsl UM
9] S AT ded
&) faraiRa ant

3] ohIH %ol AT (pay off matrix)

foar
TrsHI0cA® four forgn: Fvrddl deax
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&) SIOR 399U
3) FICA
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